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o)

Create(S) creates an empty stack

o)

Push(S,x) insert x into the stack

o)

Pop(S) extracts the last inserted item (returns void)

o)

Is_Empty(S) boolean true if stack is empty

o(1)

Top(S) returns the top item on the stack

Create(Q) Creates an empty Queue

Head(Q) Returns the first member in the Queue

Enqueue(Q,x) Insert x into the Queue

Dequeue(Q) Extract the first member in the Queue (returns void)

Is_empty(Q) Boolean returns true if Queue is empty
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Makeset(i) Return new set with single element i

O(log(n))

Find(i) Returns the set that i belongs to

o)

Union(p,q) returns a new group containing all elements of groups p,q

~0O(m)
o(1)

Union/Find nY21w5 m % (In°n°nK X?) n37wn n1°212°0

Make_heap(Q) Create an empty Heap

O(n)

Make_heap(Q,A) Create a Heap from an array (27w vynd yy)

O(log(n))

Insert(x,Q) Insert x into the heap

O(log(n))

Max(Q) Returns the maximal/minimal value in the heap

O(log(n))

Del_max(Q) Deletes the maximal/minimal value in the heap
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S B f(n)=Q(g(n)) ¢ f(n)>c*g(n)
f(n)=6(g(n)) <f(n)=0(g(n)) && f(n)=Q(g(n))
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x=logy(a) 2wn .1

T(n)= 0(n*) 7x f(n)<c*n** ox .2

T(n)= 6(n*log(n)) 1k f(n)=c*n" ox .3
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12OV by "ayn

177 12 TRY OHRAW 12 TR, W oY a7p :Pre-Order
17 72 IRY W IR ,O9RAW 12 27R :In-order
WMW TRY I 12 TR LORAY 12 aTp (Post-Order

R

WRI ¥I7>1 00 k 0°3777 DN WK WHNWw? 107112 (277 %37 292 012K HW 0 170 Mwn XY) 2°%° 111 - Counting Sort (Bucket Sort)
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